
preteklega tedna po hektolitrih. 
1 HI. = 188/,U0 vag. — 100 kilo = 1 cent in 78 */, funta. 
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(1 kr A- kr. fl. kr. fl. jkr. fl. jkr. fl. kr. fl. jkr. 
Maribor . . 9 30 6 20 5 80 3| 40 6J10 6 40 7| 5C 
Ptuj . . . 8 60 6 20 5 40 3! 40 6J 20 7 — 6 4 0 
Ormuž . . 8 90 6 50 5 40 3 25 6j 60 7 80 4 17 
Gradec . . 9 34 6[20 6 34 3 50 6 10 6 30 5 58 
Celovec . . 9 48 6; 20 6 29 S 12 6J 20 4 46 6 14 
Ljubljana . 9 26 6 34 5 63 3 57 6; 60 7 — 6 3 4 
Varaždin . 7 70 7 10 6' 20 4.' — 6; 40 9 — 7 30 
Zagreb . . 8 90 7 — 5120 3: 20 6 40 7 60 7 20 
Dunaj U jj 11 55 8 60 9 75 7J 35 8; 65 —| 
Pest l 2 S 1112 7J70 8;32 6 7 7 7 10 5 

Tržna cena 


